GIBB’S FREE ENERGY

G = H - TS

Use standard enthalpies and entropies of formation as well as the equation given above to solve the following problems.  Be sure to balance the equations first!!

1. Is the following reaction spontaneous at -10oC?


          C2H4(g)        +        O2(g)        (        CO2(g)    +     H2O(g)
[-1395 kJ; spontaneous]
2. Fe(s)        +        O2(g)        (          Fe2O3(s)
Is the above reaction spontaneous at 50oC?

[-1470 kJ; spontaneous]
3. Determine if the formation of nitrogen dioxide will occur spontaneously at room temperature (20oC).



NH3(g)     +       H2O(g)     (         H2(g)        +       NO2(g)
[553.5 kJ; non-spon]
4. Is the combustion of liquid benzene (C6H6) at 35oC a spontaneous process?

[-6355.5 kJ; spontaneous]

